: EXAMPLES
i1,2,and 3

: on pp. 495-496
: for Exs. 21-37

19. WP TAKS REASONING Which expression is equivalent to 16°2
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SIMPLIFYING EXPRESSIONS Simplify the expression.
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37. Wp TAKS REASONING Which expression is equivalent to sz)
Y
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SIMPLIFYING EXPRESSIONS Find the missing exponent.
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SIMPLIFYING EXPRESSIONS Simplify the expression.
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46. Wp TAKS REASONING Write three expressions involving quotients that
are equivalent to 14.

47. REASONING Name the definition or property that justifies each step to
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48. CHALLENGE Find the values of x and y if you know that % = b%and
b~ . bZ

T b'3. Explain how you found your answer.

8.2 Apply Exponent Properties Involving Quotients
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